AN (11/12~11/16) ORERE

[145] ABAIE 3R (10:40~11:30) & 4R (11 : 40~12:30)
ie  BF | I4AH | 28H | 3HH | 44H | 5fH | 6KH | THH | SR
11/12| 3 | EHika [HHRLA T | BFE D |==010 | e 1 | K5 | (KF
D) | 4 |=sami|=za00 | [@Egb [HREA ERb | EmEk| hE | hE
11/13| 3 | =R1 | AW | KF | KEF |EEEI|EEEL| OE1 | Eika
GO | 4 |Eieb | Eiga | G | KE |s-x-u{s -8 BFE1 | 0EI
11/14| 3 [AbFHE | BRI | BF 1 | B 1 || darmn Eika | B35 1
)| 4 [#2 1 [eestms| Eab | 258 1 | 52 1 [haoma| - Rsha| 21
11/15] 3 | %R [ |[Haeww| BoeA | B b | Boy [ HFLA weemes| Gz 1
(R) | 4 | #eea [neemm| 2i3e 1 [H500A] [Hig b |2x-21] Eiga [pee s
11/16| 3 |H=ewms| Brop 1 === a0 AL R | Z3E T | PR
() | 4 [rezrmm|HERA] B | ERD | fRE | Eika |SE1 | EHEb

[245] ZABRIZ 3R (10:40~11:30) & 4R (11 : 40~12:30)
e Bp | IAE | 28H | 3HH | 4HH | 5fH | 6KH | THH | SHH
11/12 3 | &5 | 50 |FEEfE| o s akn| go5R I | 9E5R 1T || swu /i | ik /s
(H) A (=30 (PR | e /b 2 S 2 | 2 S o ST || et /e | e
11/13| 3 |WPRERE| SO0 LRt | BOGitws| = 2 2 51 [ d/4k - 2E| /1L - | BIARSC | A ASHA
) | 4 |sone|smeise] dl |BASA| BOAT | B2 =200 = a0
11/14| 3 | #FO | 20 | HARSA|FRERE| = < a0 | BURSC | Bos#| ORI
UR) | 4 |30 | o0 | (e |Sese| A ASA|EGass| OB | Bk
11/15| 3 |Huu/vse| s/ ez (Gl | EILEE| SR En | BORRF| H AR IA|  (fE
R | 4 | ent | Bobiss| Bop T | Boep 11 | SO0t = < =oen| (R | HAHA
11/16] 3 |FEskes| BARSC | BARHA|BUARRE| 20211 | R = 3=%n= 34D
() | A |Fmsas|=can| BeAT | BRI | B ARNA|= < =00 |Busmas| BT

[342] 2ABHIZ 3R (10:40~11:30) & 4R (11 : 40~12:30)
M Bp | LRH | 28H | 3FH | 44H | 5fH | 6KH | THH | SHH
11/12] 3 | W | B | BARSC [=akm| = | FEFR A - - sl - -
(B) | 4 | 83| Bl | 38R0 | BASC | AASB| = =sm|= < sm|= <=5
11/13| 3 | BURSC | BUMRSC (= =m| R I | i | HAKEB|= 2 =%m| = 2 %m
(k) A | Bt s | /e | B i | Bt | BLASE [= 2 aem| BRATSC| fmER
11/14| 3 |=y=zm| BRI | KT | KT |=3=avm| BARSC|A - - s 5 - - s
OK) |4 | A = samm|=smm|=sa0m| A | WE | KE | hF
11/15| 3 | KF | KF | W |=s=sem| B | S| BT | ORI
) |4 | k& | F [ BEAS] W | L |AASEE] OB | BT
11/16 3 | A e | Bt | B/ mies | | (RE KE B | B
(&) A | et | A e | Btk | B/ mies | RS KE [2=%m|=3=%m




